B 2:
FUDUOKREE 2022 4F CRP4F) AR 07 =

BN ﬁﬂﬁxﬂ'%

1. 2021 %, 2022 REHEM 2 HA AR L, (B8, B, 85F£, &
E, TEEHEFE. )

2. EAER AL 2022 F MK BTN R & 00 7 55 M A B AR
£ (EEH., ThARAE, FERNARSGHLES 0 2L LT £, T
Z ) .

Z. ATHWR b E RS H %

1. ERNRHA o (F5. RE, fEE. LAaEeE. WEMEAL, 514K
mME): 202 10A10HZ 11 A18H, #R—ZFEZT4H 16:00-17:30
(FERE®R .

ZM Tk FAERE G ORI, EREIMEETHRE L AT LS R,

2. Wit /704 (44 800/ % 4 1000 K ) . 2022 #£ 10 A 10 HZE 11 A 18
H, AWM. AL T4 16:00-17:30 (F B EKR) .

ZMFk: REAFTHANLHENELSR RN R, b, EBRMEEHE
NG =2 (TEAVE 118 5 O

3. 50 k¥, T EkmE 4. 2022 £ 11 A 12-13 H., (&AW, FAT#EA)

ZMFiE: REAFHNLHENLS R ZANR BH. M, EEWETHE

NRETY, HAERERARS R, RARIERE: 2022 4 11 A6 H
18: 00,

= ARIENRA RS, FRHT, FREUTEX:
1. EEee, TEREAE.

2. EWN. 50 KAn o jE Bk sk G Al L Bl A . & TS AL, iR
WA R E R ANRA R G, BN, BRI EHHMN— K. WA B,

ETHEALEE,

3. A AMFEL, HHATIE, HEEK, RFTH. HAEKR, RF
ﬁﬁ%%%éﬁ;ﬁ R ARRXAFAREZLETEAL (B ) FE1FE, £
EEPAT.

4. FE RS AR R PR BOTEOE & T, REHR A

5. % 4B, LA E S ENRE R, SRR, LAR
IR A, (HHIEAIO




6. ¥ &SR, NAFEETZGNMEZEE, WA BT L6
B E R o er B AR M, #ATELED ., REFRS kS B F £,
BUH 4 R AR F A
W, RERFLLE

1, B TWHFEAAEFERMKXTLEEF T HE, KT F 0 E L
SR ABHBHRERMNA. (AREEFEFRL, HE “BWEFT” AR
TREE DERRHNFATEAANE BT

2. WRHBERARE, Tksmoghsy [Eaa
WEH NG, ERERETEZ YT, G

EI DR

]
i
B, FEEFRENRBRSE 2%
BMERREART, WA AT



2022 4E T RAERBLRM S+ 50 kM. SLEBLmNRHER
800/1000 Kk 224 23 anu 50 KL S BT A %
3 o 5 % ;; T F 0 Y
s . _ %“%\M%‘ R . ;%M%
01 19 L 100 @;% SR 22 195 | 1L f 12 H g%%ﬁm
] 2R WX 4% 22 4= 24 B 603
=5 523 | 1L A 13 H | f5R%E
B A B LR 2R 459 | k& H123%
10 414 H, EIsES IR SRR AR | 327 |11 A 13 H & B2
16:00-17:00 H 123 {5 B2 630 DGR M2
10 A 20 H, 912 H#& AR TR AR 393 [ 11 H 12 H T2HEY
14:00-17:00 31 71 5 MU B 520 T
A5 Bz 676
8 AN R =1 400 | 11 A 13 H T2 HAY
i s 2 B 117 it
AR 269
=4 76
2021 FESEWELE (T
)
SRR 112
10 A 21 H, 912 M4t 50 FREEE | 206 | 11 A 13 H | LH¥HAR
16:00-17:00 BUR S AL | 226 T
FKAIZK LA B 428
Iy JE 2 2R 102
2022 &Eﬁﬁjﬁ)ﬁki ET%
o S AR B 430
10 H 27 H, 912 M2 SLER 2 724 |11 H 12 H 912 MY
14:00-17:00 B2t 54 2B 296 T
HMERE S BT 274
e e SR A 237 |11 A 13 H | 912 HEY
= 464 | k4
15 5P 375
== A 159
10 A 28 H, 912 M2 25 5B AR 909 | 11 H 13 H 912 M2
16:00-17:00 MER SR ARZER | 518 T
11 H10H, EigéﬁﬁEH{é %iEEEEQéEQ)(§%ﬁ$E§%é 502 | 11 A 12 H & 23
14:00-17:00 2585 133 T4 H 21
N FE DA 2R 182
1 = 22 Bt 180
s =40 105
5 mIR 2= P 46
g | 1) 7R 45




